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Model Test 1

Part I Listening Comprehension

Section A

Directions: In this section, you will hear 10 short conversations between two
speakers . At the end of each conversation, u third wice will ask a question about
what was said . Both the conversation and the question will be spoken only once .
After euch question there will be a pause. During the pause, you must read the
Jour choices marked A), B), C), and D), and decide which is the best an-
swer . Then blacken the corresponding letter on the Anstwer Sheet with a pencil .
Example: You will hear:
You will read:

A)At the office.

B)In the waiting room.

C)At the airport.

D)In & restaurant.
From the conversation we know that the two were talking about some work they
have to finish in the evening . This is most likely to have taken place at the of-
fice. Therefore A)" At the office” is the best answer . You should choose answer
A) on the Answer Sheet and blacken it with a pencil .

Sample Answer Al (B] (cl (D}

1. (A)Rose was dismissed. (B)Rose was often late.
(C)Rose was lazy. ‘ (DD)Rose went away.

2. (A)in a travel agency (B)at an airport
(C)at a restaurant (D)ar a hotel



3. (A)IDA. M. (B)I2ZA.M.
(C)5P. M. (D)2P. M
4. (A)He is careless.
{B)He cares a lot what the woman said.
(C)He doesn’ t care what the woman said.

(D) He cares about the woman’s health.

5. (A)mountain — climbing. (B)a broken arm
(CYX — ray machine (D)an injury

6. (A)son and mother. (B)patient and doctor
(C)pupil and teacher (I)brother and sister

7. (A)in a post-office (B)in a supermarket
{C)in a passport office (ID))in a bookstore

8. {A)He watched World Cup Final.
(B)He had a traffic accident.
(C)He stayed in the hospital with his son.
(D)He stayed up the whole night watching TV.

9. (A)32 (B)12 ()10 (D)15
10.(A)get more activities (B)hurry up
(()arrange time for recreation (D)give up the whole schedule

Section B

Directions: In this section you will hear a passage three times. During the first
reading, you should listen carefully for a general idea of the whole passage.
Then listen to the passage again. When the first part of the passage is being
read, you should fill in the missing word during the pause at each blank . After
listening to the second part of the passage you (;re required to write down the
main points according to what you have just heard . Finally, when the passage
is read the third time you can check what you have written .

Sadness is an emotion that __11 _everybody. It is normal for the problems

and __12_ of life to make a person unhappy for a while, but something is 13
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__when unhappiness __14 _ with a person’s ability to carry out life’s __15 ac-
tivities. And that is what the depression does. The 16 makes it difficult for
both the mind and the body to work _ 17 . Doctors say the lasting _ 18 and
physical effects of __19 make it a true sickness.

Depression can affect any one. Researchers say one out of ten persons in the

world has the chance of developing a major depression at some time.__20(A)

There are many different signs of depression. The director of clinical re-
search at the National Institute of Mental Health, Daerol Rugear, says a common

sign is loss of interest in normal activities.  20(B)

And some depressed people eat more than usual and gain weight. Others lose

therr enjoyment of food and become thinner.

Part I Reading Comprehension

Directions: There are four pusseges in this part. Eack passage is followed by
some questions or unfinished statements. For each of them there are 4 choices
marked A), B), C) and I))Y. You should decide on the best choice and mark
the corresponding letter on the Answer Sheet with u single line through the cen-

er.
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Questions 21 to 25 are based on the following passage:

Attention to detail is something everyone can and should do—especially in a
tight job market. Bob Crossley, a human-resources expert, notices this in the job
applications that come across his desk every day. “It’s amazing how many candi-
dates eliminate themselves, ” he says.

“Résumés( i J7 ) arrive with stains. Some candidates don’ t bother to spell
the company’ s name correctly. Once 1 see a mistake, 1 eliminate the candidate,”
Crossley concludes. “1f they cannot take care of these details, why should we
trust them with a job?”

Can we pay tc» much attention to details? Absolutely. Perfectionists strug-
gle over little things at the cost of something larger they work toward. “To keep
{romlosing the forest for the trees, "says Charles Garfield, associate professor at
the University of Califonia, San Francisco, “we must constantly ask ourselves
how the details we’re working on fit into the larger picture. If they don’t, we
should drop them and move to something else. ”

Garfield compares this process 1o his work as a computer scientist at NASA.
“The Apollo Il moon launch was slightly off-course 90 percent of the time, "says
Garfield. “But a successful landing was still likely because we knew the exact co-
ordinates of our goal. This allowed us to make adjustments as necessary.” Know-
ing where we want to go helps us judge the importance of every task we under-
take.

Too often we believe what accounts for others’ success is some special secret
or a lucky break (HLi#). But rarely is success so mysterious. Again and again,
we see that by doing little thir;gs within our grasp well, large rewards follow.
21. What is the passage mainly about?

{A)It is not necessary to be a perfectionist.
(B) It is attention to details that helps realize major goals.
(C)It is of great importance to be adjustable.

(D)1t is largely a matter of luck to get success.

4



22. Decide which one of the following four statements is true according to the pas-

sage.

(A) Some job applicants were rejected because they failed to present details
about their background.

(B) Some job applicants were rejected because they eliminated their names
from the réesumé.

(C)Some job applicants were rejected because they presented a r'esum’e copy
that was unclean.

(D) Some job applicants were rejected because they lacked education in

spelling.

”

23.The word “eliminate” (Para. 1, line 4) in this passage means”____
(A)object (B)neglect (C)get rid of (D)catch up with
24. The example of the Apollo II moon launch is given to show that ___.
(A)failure is the mother of success.
(B)minor mistakes can be neglected in achieving major objectives
(C)adjustments help avoid major mistakes
{D)a good understanding of the goal helps in deciding which details can be ig-
riored.
25.We can infer from the passage that .
(A)although too much attention to details may be costly, they should not be
overlooked
(B)careless applicants lose their jobs
(C)be aware of the importance of a task before carrying it out
(D)work on details that are of vital importance to the whole task and success

is within reach
Questions 26 to 30 are bhased on the following passage:

The American common school differed from the European school in that it
was from the outset an expression of the desite on the part of the American

colonies to develop a type of intellectual freedom not prevalent in Europe. There
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was a further characteristic of the American common school which distinguished
it from its European predecessors. The school was, from the beginning, con-
trolled by local authority. Communities were indeed compelled by early legislation
in the colonies to maintain an educational institution of some kind for the young
people, but the details of organization were left to the communities.

We find that there was the greatest variety in the method of controlling
these schools. In New England the town meeting determined the policy of the
school. It set the salary of the teacher, and very frequently went so far as to se-
lect the teacher, although it commonly delegated supervision of the school to a
trustee or to a committee. This committee often included the pastor (¥ )of the
church and one or more of the leading citizens.
26.0One of 1he major difference between American and European schools was

(A) that American schools were colonial and therefore were under European
control.
(B)that American schools desired to be expressive.
(C)that American schools emphasized the need of intellectual freedom.
(D) that American schools were for common citizens while European schools
were for nobles.
27.The word “prevalent” (Para. 1, line 3) in this passage means ___.
(A)current (B)famous (C)notorious (D)acceptable
28. Another distinctive quality of American schools was that
(A)the local government was free to organize its own educational system.
(B) the local government was compelled to follow the central authority.
(C)each community was free to decide whether to provide education or not;
(D) the school was controlled by the federal government
29. Which of the following statements is not true?
(A)Each community differed in the method of controlling the schools.
(B) The salary of the teacher was determined by the local authority.
(C) The supervising committee of the school was often composed of church
people and ;ome important figures of the town.
(D)All communities carried the same principle in organizing these schools.

6



30. What is the passage mainly about?
(A) The intellectual development of American schools.
(B) The independence of American schools from Europe.
(C)The central control of American schools.
(D) The role of local authority in American schools.

Qusetions 31 to 35 are based on the following passage:

There is no doubt that a common language used throughout the world would
do much to bring countries closer to each other. Though it is becoming increas-
ingly easy to move from place to place, our inability to communicate with one an-
other gives rise to numerous misunderstandings and makes real contact between
people of differing nationalities impossible. Many attempts have been made to
overcome this problem and they have all failed. The fear of foreign influence and
domination rules out the universal acceptance of any onc of the existing major lan-
guages. Aware of this difficulty, many linguists(iF 7 % % ) have constructed ar-
tificial languages which could have no possible political overiones. They have ar-
gued that a language of this sort would perform much the same service as Latin
did in the Middle Ages.

Although linguists succeeded in making their artificial fanguages cxtremely
simple so that they would be easy to learn, their efforts seemed doomed from the
start. The reason for this is that there is no real incentive to learn an artificial
language. There is nothing to guarantee that everybody is willing to make the ef-
fort; there is no assurance that the learner will have any adequate return for his
10il. When people 1oday undertake 1o learn a foreign language, they are not in-
terested only in speaking it. Mastery of a language makes available to the learner
a great deal of worthwhile literature and many current publications. This is the
biggest stumbling — block of all for the artificially — constructed tongue. Having
no literature of its own, all it can offer is a limited number of translations which
are valueless in themselves. Nor can it acquire any literature; for it would have to
be used for a great many generations before this could become possible. More-

over, constant use over a long period would bring into being many ‘ national’ di-
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alects and the language would thus defeat its own purpose.

Another serious objection is the fact that a language is shaped by use and not
by design. It is a living thing which is forever growing and changing. It takes
hundreds of years before it can acquire richness and depth. In an artificial lan-
guage, however, the meanings of words are rigidly defined. Inflexibility makes
for an absence of subtlety, so that no really fine meaning can be conveyed.
Though this quality might be admirable for scientific publications, it greatly im-
pedes the formation of any significant literature. Latin was ideal in this respect,
for it was a ‘dead’ language with a literature; an artificial one is ‘dead’ from the
start. This makes it likely that existing language barriers will remain with us for
a very long time.

31. What is the main idea of this passage?
(A)language barriers in communication
(B)latin, a dead but ideal language
(Q)artificial language, a solution to language barrier
{D)problems with artificial languages
32. According to the passage, which of the following statements is not true?
(A)Although it is easy to travel around the world now, real contact is impos-
sible as a result of our inability to communicate.
(B)To overcome the language barrier, people all over the world welcome one
of the major Janguages to be universal.
(C)People are afraid of losing their own languages as a result of the domim;-
tion of foreign major languages.
(D) There are numerous misunderstandings in people’s contacts.
33. The word“doomed” (Para 2, Line 2) in this passage means ____
(A)welcomed  (B)acclaimed (C)disliked (D)defeated
~ 34. According to the passage, artificial languages haven’t succeeded in overcom-
ing language barriers mainly because
(A)they are designed but not shaped in use.

(B)they lack incentives to learners.

(C)they will be mixed with national dialects.
8
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(D)they have no literature of their own.

35.The author’s tone of voice toward artificial languages can be best character-
ized as
(A)optimistic  { B)sarcastic (C)negative (D) positive

Questions 36 to 40 are based on the following passage:

China’s major banks are gearing up their efforts to improve their financial
services to support the country’s plan to achieve 8 — percent economic growth this
year.

The People’ s Bank of China last month issued guidelincs nrging the financial
sector to help boost spending to ensure the targeted economic growth.

Responding to the central bank’s call, the top five Chinese banks have
drafted detailed measures to help the economy.

As the country’s largest state-owned bank, the Industrial and Commercidd
Bank of China(ICBC) arranged 75 billion yuan (US $ 9.3 biliion) for lending in
the first half of this year, raising the ratio of savings to loans by 18 percent:ge
points compared to the corresponding period last year.

While attaching importance to key enterprises by trving 10 offer the eredit
quota system to satisfy their demands for funds within « specified period of time,
ICBC has set up a department specéalizing in granting services to smeall and medi-
um-sized enterprises (SMEs).

ICBC plans to inject 30 billion yuan (US $ 3.61 billion) for loans to SMEs,
according to bank officials.

Meanwhile, the Agricultural Bank of China (ABC) has declared its commit-
ment 1o support the country’s agricultural sector.

It plans to offer 35billion yuan(US $ 4. 2billion) in loans to agriculture in
1998, an increase of 11 billion yuan(US $ 1.3 billion) from last year.

The bank loans are expected to assist in the stéady growth of crops, the pro-
motion of technology in agriculture, the exploration of rural markets and the de-

velopment of agribusinesses.



In addition, the bank has increased by 20 billion yuan (US $ 2.4 billion)
loans to the housing sector, which is expected to become the country’ s new
growth area.

36. The best title for this passage is
(A)China’s Banks Strive to Promote Economic Growth
(B)Financial Service and Economic Growth
(C)Bank Loans and Savings
(D)Credit and Growth

37. The word “boost” (para 2, line 2) is closest in meaning to .
(A)decrease (B)cut (C)increase {D)enchant

38. According to the passage, which of the following statements is true?

(A)China’s top five banks are free to take their own measures in savings and
loans.
(B)The Indusirial and Commercial Bank of China(ICBC) is the central bank
of China.
(C)Small and medium — sized enterprises{( SMEs) have priority in obtaining fi-
nancial support from banks.
(1)) Housing sector is expected to win increasing support from banks as the
country’s new growth area.
39: The Agricultural Bank of China claims to assist in all except ____.
( A) promotion of agricuhtural technology
(B)steady growth of crops
(C)small and medium - sized enterprises
(DYhousing sector
40. What is the targeted economic growth of the country, according to the pas-
sage?

(A)18% (B)8% (C)10% (D)12%

Part . Vocabulary and Structure

Directions: There are 30 incomplete sentences in this part. For each sentence
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there are four choices marked A), B), C) and D). Choose the ONE answer
that best completes the sentence. Then mark the corresponding letter on the An-
swer Sheet .

41. Local meteorological departments predicted that the water level in the

Yangtze River will rise in the coming few days.

(A)farther (B)further (C)more highly  (D)more far
42.___ CET -6, he was exempted from taking English courses.
(A)He has passed (B)Having passed
(C)He had passed (D) After passed
43.1f only he then that the nice — looking woman was a drug dealer!
(A)knew . (B)has known (C)knows (D)had known
44 . Because of the high crime rate, girls never dared to go out after dark, 7

(A)weren’t they(B)daren’t they (C)didn’t they (D)did they
45. The shop manager always stressed to his employees: “ we can never be

”

polite to our customers.”

(A)so (B)too (C)that’ (D)more

46. Due to an urgent call from his boss, he had to ____his girl friend’ s invitation
to dinner.
(A)decline (B)deny (C)refuse (D) reject

47. The old woman genuine pleasure handling these old articles left by
her mother.
(A)deprives. . . of (B)deprives. . . form
(C)derives. . .of {D)derives. . . from

48. The little girl was disappointed to find that her mother had put all sweets
___ her reach. ]
(A)within (B)inside (C)beyond (D)over

49. The mad man his great anger by chopping wood.

(A)worked away (B) worked off (C)worked out (D) worked down
50. My English teacher is extremely strict about grammar. 1 dare not talk with
him [ get every grammatical point straight in my mind.

(A)although (B) while (C)if _ (D)unless
11



